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WIS TAR AT 1A 5wyt 39w
w@a (Momentum) (F)
T AN @ A AT T . P:mv.ﬂaﬂmaw f Foarr AT

s S AT s werean iy 9, damen o @ fom A A 5w @
M.'m‘a@mmmmmm‘u'anﬁmmﬁwmﬁm‘F g
NIH HEUW ' qaE ASTR g A
S, G GrAeEn A = mu,
‘SN HrATAE asgEr sifan #5301 = my
-, WA T 7 = SR EIRT 2

EC
-, el g - MV omu mv-uw)
t t
=gz Teftfavah qEn P, dam afedar @ g aari @) sEdr.
Somaes B
o F=kma (k = feis 33 &4 469 1 31R)
F=mxa

#am sgeasan fagia (Law of Conservation of Momentum) :

S A T S § = myv,

e wHifawas e FrEEEn, A o 3@E B aw @ wiR am
Frad B aEA WA w5 Al Jee o an VszWmm;m@;ﬁ:ﬁqT A
B 75 @1 F, 9e W4 & 318 @, = Mgvy

F2=-—Fl
Mgag =~ mMyay ... F=ma
(v, =m (v, =
mgx—z-t—23=—-m1x_l_.ﬁl_). .......... a_u
L

2 myglvg = ug) =~ mylvy —uy)
S MgV — Miglly = = 1y Vy + gy

S MgV + mlvl =mjuy + Mgy
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REIERICHR O 311‘% ms"i-""*“‘g'mfﬁtm.” TR A A HA

gan myv, Bl ﬁaﬁw

myvy + MyVy = 0.

Read the following passage and answer the questions 1 to 5.

Momentum (P)

Momentum is the product of mass and velocity of an object. P = mv. The rate of
change of momentum is proportional to the applied force and the change of momentum
occurs in the direction of the force. Momentum has magnitude as well as direction. Its

direction is the same as that of velocity.
Suppose an object of mass ‘m’ has an initial velocity . When a force F" is
applied in the direction of its velocity for time ‘t’, its velocity becomes V.
- the initial momentum of the object = mu,
Its final momentum after time, ‘t’ is mv

.. Rate of change of Momentum = Change wﬂltum
. Rate of change of Momentum = ey '; < m(Vt- A
According to Newton’s second law of motion, the rate of change of momentum is
prcuportional to the applied force.
?iz :la (k = constant of proportionality and its value is 1)
F=mxa
—————TSPAGE FOR ROUGH WORK
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Law of Conservation of Momentum : An object B has
: faa 3 Uhd ity 18 uy- T
Suppose an ohject A has mass my and its initial velo:l:Ymomemum' the initial

mags my and initial velocity uy. According to the formula OE o objects collide. [_‘et

momentum of A is myuy and that of B is mgyug. Suppose thﬂi_on in A and its velocity
the force on A due to B be Fy. This force will cause accelerati

will become v;.
S Momentum of A after collision = m;vy n B, but

I
According to Newton' third law of motion, A also exerts afLeQut G500 L
in the opposite direction, This will cause a change in the momen If Fy is the force that

after collision is vy, the momentum of B after collision = maVvy.

acts on object B,
F2 = - Fl‘
S Mgay = —myay ... as, F=ma
(v, —u,) (v, -u,) (v —u)
oMy X ——g—i—L =—my X —It—l- Gl e

Lo mylvy —ug) = — my(vy —uy)

S MgVy — Moy = — mjvy + myuy

< Mgy + myvy = mlul + mguz
The magnitude of total final momentum = The magnitude of total initial momentum

Thus, if no external force is acting on two objects, then their total initial
momentum is equal to their total final momentum. This statement is true for any
number of objects. “When no external force acts on two interacting objects, their total
momentum remains constant. This is a corollary to Newton’s third law of motion. The
momentum is unchanged after the collision. The momentum gets redistributed
between the colliding objects. “The momentum of one of the objects decreases while
that of the other increases.” Thus, we can also state this corollary as follows. “When
two objects collide, the total momentum before collision is equal to the total momentum
after collision.” In order to understand this principle, let us consider the example of a
bullet fired from a gun.

: When a.'bullet of mass m is fired from a gun of mass my, its velocity becomes v
and its momentum becomes myv;. Before firing the bullet, both the gun ang the bulle}t'
are at rest and hence the total initial momentum is zero, According to the above |
the total final momentum also has to be zero, Thus, the forward oyt Bl aw,
the gun to move backward after firing. This backward motion of the i G altl!aus.es
recoil. The velocity of recoil, vy, is such that, called its

mlvl + MgV = 0,

T AT ST | SPACE FOR ROUGH WORK AR S et L
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15 Mt pmasi- -
l‘ aq W - = " : 6 | ..I---y | B i / B
IR 3 200
* /s I - ey wmmammmﬁmﬁmamﬁmsm i
CFR Hrewrar . mmammmjﬁsmh&mnﬁmm
T = A -
T ;;’”(3) 68 m/s (2) 60 m/s
G = Al v
No objects ha " &,‘A_—_’_ S

€ same direction with velocities 8 m/s

J 4 d4 . P
C the two objects‘ the ﬁrst Object R an me, resp@ct!"ﬂly. After the collision of

with a velocity of 5 m/s. After collision, the

velocity of the other object is : .
fﬁ 7)) 06mss - Nk
(3) 6mis if—’z"‘f:w_i;é P~
s "3‘ & S (4) None of the above Ao « g5 0
o jane. e

(2) wg&a &
(3) el
(4) =i &

The two objects are interacting without external force, their total momentum
(1) depends on the initial velocities of the objects
does not change
(3) increases
(4) decreases

g FEEA 6 kg S M FSCA T 170 s I wfvdif 71,

3.
aghra HaT HEl | :
&‘ (1) 10-2kgm/s \*‘f %Lfmkgmls s-:‘, ,‘x!"
| (3) 1020 kg m/s (4) 102 kg m/s ot
'3 The mass of a gun is 6 kg and it recoils with a speed 170 envs. i
momentum of the gun ? W‘ha‘ \l?
) 10-2kgm/s (2) 102 kg nv/s - Sk
g 4) 102k .9
g m/s i 4 &
m/ e
(3) 1020 kg nmv/s /\fj
UGH WORK 4
m S
“mmaﬂﬂ . @.\7\
\ % /‘
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o e A
4. W, A Aft B AR amme sgE m, W my A8

Framam, A T6 B @ A a9 w9 A,

(1) = anfn fsg B9 s

(2)  w@wm anfon v fagm

(3)  wwm anfor vewra 29 s

(4) s s faeg f29m sma

Two objects, A and B have masses m; and my, respectively. According t,g_r]jgy_tg:_’s

_ third law of motion, the force exerted by AonBis:

\,/\ff equal and in opposite direction

(2)  different and in the same direction

(3) equal and in the same direction

(4) different and in opposite direction

The rate of change of 1 is:

\)H/ directly proportional to the applied force
(2)  inversely proportional to the applied force
(3)  does not depend on the applied force
(4)  None of the above
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B 9

Read the following passage and answer the questions 6 to 10.

Mineral Nutrition
ell as in the

w
osphere as 2
hich remain

ments W

he green plants and
d ions

Mineral nutrition is of unique importance in the bi
affairs of man. All organismsa consist of atoms of chemical ele
preserved in the rock, the oceans and the atmosphere. Only t g
certain microorganisms can primarily extract gimple inorganic cump0u.n. 5 i
from the environment without being dependent on other living organisms. it s
inorganic requirements are minerals and are called mineral nutl'ienuf' - d no
considered as essential, if without it the plant cannot complete its life cycle an

element can be replaced by any other element.

The elements known to be essential for higher plants are OXyger, SREROT,
hydrogen, nitrogen, potassium, calcium, magnesium, iron, boron and chlorine. The
elements which are required comparatively in_greater amounts are termed as
macroelements and the elements which are of very small requirements are termed- 5
micronutrients. The mineral elements may be detected by plant analysis, solution
culture or hydroponics and solid-medium culture,

Plant analysis is of two types, wet digestion and ash analysis. The essential
elements perform many functions in plant life. Carbon, hydrogen and oxygen are the
framework elements. Nitrogen is a constituent of many important biomolecules like
protein, DNA, RNA, Chlorophyll, NAD*, NADP*, FAD, etc. Phosphorus is an important
constituent of nucleic acid, phospholipids, ete. Potassium is required in high amounts
by plants for normal growth as it provides the necessary ionic environment for the
proteins inside the plant cell. Caleium functions both as a structural component and as
a cofactor for many enzymes.

Magnesium, like calcium, also serves as a structural component and is evolved
as a cofactor in many enzym‘ati‘c transfer reactions. It is a component of the chlorophyll
structure. It is required to maintain the structural integrity of ribosomes and
chromatin fibres.

Being a constituent of certain amino acids like cystein, cystein and methionine
sulphur participates in protein structure. Iron performs a number of ik rtan’
funetions in the overall plant metabolism. Manganese plays an ilﬁportant P‘)l .t
photosyntbesis is essential for sugar transport. It is also concerned with role in
wall metabolism and pollen grain germination. Molybdenum is importantw-q t.:he cell
metabolism, ‘A Mitrogen

FEE] BIETATET ST [ SPACE FOR ROUGH WORK e e See—— s
P.T.O.
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Higr=y A Ty e
(a)  Grofmy R L | T S S,
(© weirhy (b) amiq
T T (d) dafirg
e ey T 3R /3me 9
Tty Iy .
1
8, i (2) % (a) 3N ()
(3) % (¢) @ % (d)
W,hiCh element is r equired m_lwm for normal plant growth ?
\_7(67 Potassium (b) Boron
(e) Chlorine ) Magnesium -
Which of the statements given above is/are correct ?
Answer Options : '
(1) Only (a) (2) Only (a) and (b)
(3) Only(e) (4) Only (d)
8 A A e FeHed v AR ? )
: o, WA, 310 (2)  Hfewm, TP, e
(1) A, , o p
(3) HAfIEE, 3, FAA ( \ BTG, ST

Which are the framework elements in plant life ?
Nitrogen, Magnesium Boron (2) Calcium, Nitrogen, Potassium
( 1) 1 > ’

(3) Magnesium, Iron, Chlorine Carbon, Hydrogen, Oxygen

OUGH WORK
< | SPACE FOR R
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0. aAerdtaY HrEt aTRad W o s s ? |
(a) &fFem by HEA
(¢) (o) e
aflettdt s Ram/faas s sm/smta ?
watl 39 . ﬂ
(1) %% (a) (2) fa):r;":;’:
(3 WA (o) (4) e (c) -
In plants which element is essential for - sugar transport.?
(a)  Caleium (h) Iron .
Q)c)/ ~ Boron (d) Magnesium
Which of the statements given above is/are correct ?
Answer Options :
(1) Only (a) (2) Only (a) and (b)
A3 Only (¢) (4) Only (c)and (d)
10. TP o S gEeTE] 92 T8 7
(a) eI
(b) RIS Hefatferesm
(c) oI HIAYY
(d) Whg aEg®
el e faur/faum atet sR/sRe 2
ot I
W @ (b

(3) e (b) 3f0T (c) (4) B () =0T (d)
Mlagnesium is essential for which structure ?
«ar” Chlorophyll
(b) Nitrogen metabolism
__le}— Photosynthesis
(d) Sugar transport
Which of the statements given above is/are correct ?
Answer Options :

\_ Oy > ) Only (b)
(3)  Only (b) and (c) (4)  Only (¢) ang (d)

HELT FTHATSE ST / SPACE FOR ROUGH WORK B e e = .
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Read the following passage and answer the questions 11 to 15

When uranium isotope-235 is bombarded with ayg .nem:rorm,fmg'mem’B ke
capturing a neutron. The 2';‘;1,1 being unstabl(b’r‘éﬂi;:nmto t‘;’f %
releasing two or more neutrons 22’;{1 + :) 23?2U =, ggb® * 36}_(" g P

The above is a typical fission reaction. During a nuclear fission, a lt?lrgf:agn"entﬂ
of energy is released due to mass defect, i.e., the sum of masses of the two R
and the neutrons set free, is less than the sum of the (given) masses of the read =
This mass defect, for a particular amount, in uranium fission is of the t.u've)l‘per
0-2 a.m.u. which corresponds to the production of 186 milli .
uranium atom fissioning or about 4:3 x 10° k cal per mole (235 g) of uranium Asoms 336

236y s formed by
92

fissioning, ow \ 4
36 The fission process is complicated. Over thirgyé pairs are known. Let us n @—
A<’ consider the most famous nuclear fission, that of 9;U brought about by neutron

"5/6/ capture. Although this fission process occurs in a large number of ways, in each case W

/ large amount of energy is released and more than one secondary neutron emitted. 93
288, 1 " 288 90 144 1 -— L=
gl g <5l 63 +5Cs +2 n.

Two neutrons are emitted for every neutron that initiates the fission process. T
The neutron emitted during fission may be further absorbed by other 2352U nuclei thus R+ G'F‘:
causing further fission and emission of more neutrons. In this way, a chain reaction — =
starts releasing tremendous amounts of energy. However, if the amount of 2:;ZU i8 e
small, most of the neutrons will escape from the surface and the reactions will stop. |

Therefore, a critical mass of metallic uranium is necessary in order to start and sustain i
a_chain reaction, The critical mass of 239‘;1: has been found to be between one to

hundred kg.

The basic principle of atomic bomb is the chain reaction. At the time of @
explosion, the two radioactive samples of each subcritical mass, but whose total mass
exceeds the critical mass, are brought together by the use of ordin,
these subcritical masses come together, a chain reaction
amount of energy. :

The principle underlying such nuclear fission has
harnessing vast amounts of energy in nuclear reactors, In
reaction is made to occur at controlled rate. Essentially,
2:;52U separated from each other by blocks of graphi

ary explosives. Once
Stam releaslng a large

also been employed in
these reactors, the fission
a reactor consistg of lumps of
moderators) which by slowi i i ary vater (neut

y slowing the neutrons, help in controlling the chgaj Neutron
large amount of heat which is released dm'inm'rhe

on is converteq

energy. into electrica)
W FHTTATS! AT | SPACE FOR ROUGH WORK \
P.T.0.
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11. fRwzy Wi Frufor )
(@) 3rfiyfiy FUHR Ty TR o AR Frmen afran AT sy sy 2

B

(2) wam ()

- @) %4 (a) iy (q)

I ﬁssi rocesses the ‘

- ’ amount f o ; g 11
factor/s 2 V1 energf released epends on which of the fo owing

(@) The masg of the reactant
(b)  The mags of the prodyct

(€) The mass of the reactant and product
(d) The loss in mass during fission

Answer Options ;
(1) Only (a) angd (e) (2) Only(b)
(3)  Only (d) ,gu Only (a) and (d)

12. ’ﬂﬁﬁ‘”@ﬂﬁﬁmm(asaa)mmmm?
(a)  =gaiia wE) g woam ;
(b)  =gi=h 39t el
(c) Wﬁ%ﬁmm%ﬁzm,mﬁ:m%maﬁw

ggiEt 39 ;
(1) %# (b) (2) % (c)
(3) % (a) (4) (a), (b) =1fo7 (¢)

In nuclear reactors, why is @a\ry water) used ?
(a) To cool the nuclear reactor

f neutrons
(b) To enhance the energi;’d hence the speed of neutron so that it slows down and
To reduce the energy

c)
\/ gets captured

Answer Options : /{OMJ, .
(1) Only (b) il
Only (a)
___'T;:TWACE FOR ROUGH WORK
Foel
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18. wrefle qfra:f"tta sifuefiran oo wa « %9/} 0
4
“ﬁU + n (”\t *s "lr 4 n S %«
(a) x=141,y=91 (b) x=139,y=93 4
(©) x=141,y=93 (d x=139,y=95
watdft a9
(1) & (b) anfor (d) (2) waa (a) #100 () 4
(3) WA (a) 3fn (b) (4) v (o) S (d) _19/3, :
Complete the following hypothetical reaction : & A
23 1 X v 1 |
9ZU+0“454X‘3+SBS"*40“ 46. \%3
(@) x=141,y=91 O m=d,y=08 ——
0 x=141,y=93 @ x=139,y595 @
Answer 0}5@?" a4 a3
(1) Only (b) and (d) (2) Only (a)and (c) 8.5
(3) Only (a) and (b) (4) Only (¢)and ) B+ 4o
14.  y@en sAfufrrard famss s waets e amue s s S56d 2

(@) famea Aom=n weratem guummes =27 fraga smamE
(b) fawEa &vm=n sEgten qeumes =57ia amaen f9E Fwa A
(c) =g vhea A3 Jaen Al ge drea aw mramEE
(d) mmmmwmm

gt 39 ;

(1) % (d) (2) a4 (a) 107 (b)

(3) % (c) s (d) (4) 4 (¢)

For the chain reaction, why is it necessary to have critical mass ?
M“-—-—-——-_.

(a) For neutrons to escape from the surface of the fission material
(b} For neutrons to scatter from the surface of the fission material

4T~ To capture neutrons to start and sustain the fission reaction

(d) For neutrons to reflect from the surface of the fission material
Answer Options : %
(1) Only (d) (2) Only (a) and (1)

(3) Only(c) and (d)
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(a) 4:3 « mgﬁ'ﬁhﬁaﬂ
(b) it

= BIEE (MeV)
@ 2107 e w5y

(d) 1.83. 1010 fige et
‘nﬁ:ﬁmg

1) v (g
@ %7 (o)

3) % (a) sy %
(4) % (b) apfy X

e

i

e ey zggU + by the given nuclear fission process, the amount of energy

released is

,\___Ea_) 43 x10° k cal
. (b} 186 million electron volts (MeV)
() 2x107 kcal
(d) 183x10""kcal
Answer Options :
(1) Only(d)
(2) Only(e)
_ Only (a) and (b)

(4) Only(b)and(d)

ST | SPACE FOR ROUGH WORK
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WIS IO WA 16 * 20 weardh I W, Ly o AT A AT
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frafha sreren FemEa @ ygE it far . @ gd, Tem € e S 39
HeyT 3R R grafavrE Hed .

Read the following passage and answer the questions 16 to 20.

Money Bills originate only in the Lok Sabha. If a dispute arises as to whether a
Bill is a Money Bill or not, the decision of the Speaker of the Lok Sabha is final. The
Rajya Sabha has no power to reject a Money Bill. It can only make recommendations,
i.e., suggestions. The Lok Sabha may accept or reject all or any of the recommendations
of the Rajya Sabha.

Ordinary Bills can originate in either House. In case of disagreement between
the two Houses, the Bill is referred to a joint sitting of both of the Houses. It seems that
the two Houses have been placed on an equal footing in this regard. Re slly speakin
the Rajya Sabha is in Mp_@jji‘mjn the matter. Since the total membershi E;,
the Rajya Sabha is less than even half of the total strength of the Lok Sabha the wiﬁ ;
the Lok Sabha would naturally prevail at a joint sitting, Moreover, 7 o
presided over by the Speaker of the Lok Sabha,

ween] STErd! ST | SPACE FOR ROUGH WORK ol
P.T.O.

a joint session is

15



- mm’m———-mmm.
ik (2) TsTEYT
(3) faum gftgz : @ o T

Money Bill originates only in the

\ ¥ Lok Sabha (2) Rajya Sabha

(3)  Vidhan Parishad (4) None of the above

17. wane fadgs yafatas 2 &1 3 2 F atfaar 2

(1) Tgadt (2) YageH
(3) IguEadt T SR wege

Who decides whether a Bill is a Money Bill or not ?
(2)  The Prime Minister

(1) The President
(4) The Speaker of the Lok Sabha

(3) The Vice President
& =77 / SPACE FOR ROUGH WORK
—— el
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18,  amr favyd wduan v qel Higd 9,
(1)  TspEw (2) EEwE
(3) HEE e gumg (4) by
Ordinary Bills can originate onlyin .
(1) The Rajya Sabha (21 The Lok Sabha
(8% Any House of the Parliament (4) None of the above

19, @refetdl Sn aswien wwgad Tads s a7t ?

(1) usami= vg qew de dEana #9

(2) =g AEAYER Hory Sman 3 7HYd e

(3) WSS B waa AFEEAE FAEER G

(4) afierddt vwdl

Which of the following is not a reason of weaker position of the Rajya Sabha ?
A1) The total membership of the Rajya Sabha is less than the Lok Sabha
A2} Joint session is presided by the Speaker of the Lok Sabha —»

W The Council of Ministers is responsible only to the Lok Sabha
(4) None of the above

20.  @refledehl v ArEdi TsEd A st 778 2
(1) Tyt Faeys
(2) i =T A e 7w
(3) wftamfi=t dryom
(4) alreTaehl usha TE
In which of the following cases is the Rajya Sabha no¢ equal to the Lok Sabh a?
(1) The election of the President
(2) Removal of the Judges of the Supreme Court

(3)  Proclamation of Emergency

L/fﬂdf—Nm:e of the above
FTEA GRS ST | SPACE FOR ROUGH WORK PR v e U
P.T.0
\___
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Wit i 3 Frergug _ |

YIS §E ey, W e sifef, 1875 SR 11§ 3ok Grimed Swranten A o
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Read the following passage and answer the questions 21 to 25.

In the election of 1860, the Republican candidate Abraham Lincnl.n.Wﬂﬂ “Ire:dc:fmd
as the President. The Republican Manifesto had included a promise of P"l’l"'mI e A
to the Blacks. Steps were taken to fulfil the pledge taken during the cm:‘ War.;dom
number of Constitutional Amendments were done so as to give more political fr "
to the Blacks. For example, the Thirteenth Amendment passed in 1863 by tth
Republican government was about the Abolition of Slavery. The Fourteen
Amendment of 1868 ordered that the right to vote should not be denied to anybody o1
the criteria of race, colour or a history of slavery.

These three Constitutional Amendments set a powerful precedent. The political
diplomats who had vowed to reconstruct the Southern States during 1865 — 18786,
began to strive towards securing the complete citizenship rights for the Blacks. The
Civil Rights Act of 1875 opened a number of fields for them where they would not be
“discriminated against. The success, however, was limited; because towards the end of _
the period of Reconstruction, the erstwhile slaves had fallen into the grave situation of
economic slavery. The Supreme Court in 1883 declared that the Civil Rights conferred
upon the Blacks were unconstitutional.

Their voting rights were snatched away during the decade of 1890’s using the
trap of literacy tests. Other provisions of the Act that aimed at fighting the racial
discrimination were not implemented properly. Consequently, processes of segregation
and discrimination became deeply entrenched in most of the institutions in the United
States. Jim Crow Laws and other such traditions supported segregation and
discrimination against the Blacks in all walks of their life. The Supreme Court
validated segregation in a number of related cases. This meant that it became legally
very easy to entrench prohibition, segregation and denial of voting rights by the
implementation of the Mississippi Plan and the Negros lost their voting rights. The
Government Act which took away their voting rights and legalized segregation was
declared to be constitutional and legal by the Supreme Court. This put the Blacks in an
ironical situation. Technically, they were declared to be of the same statys as others
but they were compelled to stay separately. 3

Booker T. Washington wanted to solve the problems of the Blacks
negotiations and self-support initiatives. However, W.E.B. Dy Bois coun

Id not agree
with Washington. Du Bois gave a radical, nationalist and separatist
stand to
Movement. s
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(1)
(2)
(3)
(4)

w)%%mmmwﬁvnnm_
(a)%ﬁwmb)mwﬁunqm,
(c)%ﬁura(a)%wmemg,

(@), (b) anfin () AT uaienT AT,
Read the Statements,

Manifesto of 1860 had included a promuse of political freedom
to the Blacks.

(¢) The Supreme Court in 1883 declared that the Civil Rights conferred upon the

Answer Options 3

\/(f)_ (b) is the effect of (a).

(2)  (a)is the effect of (b).
(3) (c)is the cause of (a),
(4) (a), (b) and (c) are unrelated.

1875 =0 vt siftenr sifufmren wif ﬂ;ﬁﬁmé Fry
(1) yaEtefie TemE que &3 gd:::ﬁ :
(2) A fofs et goef) wreiraelt Bt 1 e et g dar dw s Ae
(4) zﬁaﬁa@amﬁgﬂw@aﬁaﬁ b
Civil Rights Act of 1875 had limited suc(.:&as
Tt)le t.;lere were many fields open for erstwhile slaves.
(;) the Blacks did not have voting rights. i
: the slaves had become too poor to exex:;d
ﬂ) Southern States were being reconstructed.
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sefbfter i sieined fasefiar @ Waaren wgA v seard He
(1) duEn weagsety qamfrd e wreh fd,

(2) = sl uﬁ:ﬁumarqﬂaﬁmﬂmﬂmaﬁwmm°
(3) wra @i waaErEr afn e e,

(4)  afteltd) ywd ard) e

in most
Processes of segregation and discrimination became deeply entrenched in
institutions in the United States because

(1) slavery was abolished by the Thirteenth Amendment.

420" the provisions of the Civil Rights Act were not implemented properly.
(3) right to vote was conferred upon the Blacks.
(4)  None of the above

Al

24, gw A, affive sty geey g, g Ay arenae B fave sEE R 2

(1) Zrad smfeRs e 2a,
(2)  Sd Fomavity Swadta sed wa.
(3) =M asasten FEvgdeaEd vEnd qeEd.
(4) afdmes 41 Hates i, ot g 91 A STEE MnvnEn sadd el
Which of the statements about Booker T. Washington and W.E.B. Du Bois is
incorrect ? %y

AT Bothwere AmericanBresidents
(2)  Both were active in the Black Movement.
(3)  Both did not agree on the way in which the movement should be carried out.
(4)  Washington was a moderate, while Du Bois followed radical policies.

25. Eeg faum s
(1) fufafadt Frages s SewEs Sftes s e,
(2) fafufadt s s g6ems wtvwn s @
(3) wepETEaTaE HFAAHS BleAd Yo wiuwn fuas Ty,
(4) wifiy FiA A Frn A sfuwn e fE.
Identify the incorreet statement.

(1) Blacks had to live a life of segregation due to the Miss; ippi Pl
+ . - '*‘-N.-R__-—@-
(2)  Voting rights of Blacks were denied due to the Mississippi Plan

(3) Literacy laws were responsible for snatching ; :
Blacks. away the voting rights of the

Me Supreme Court always provided Civil Rights to the Blacks
@w] TR ST | SPACE FOR ROUGH WORK :

P.T.O.
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Read the following passage and answer the questions 26 to 30.
El Nino and La Nina Ocean Currents
cean.

El Nino is a warm ocean current which oceurs irregularly in the Pacific 0
The invention of El Nino is useful for the prediction of global change in annual climate
and monsoon rainfall. But the generation, extension, period of El Nino is not yet
predicted accurately. El Nino is a cyclic incidence which happens at the interval of a i‘ew
years. The temperature of the Peruvian coast does not fall considerably because of _th“"
current. El Nino is considered as Christ’s child on the Peruvian coast because it arrives
after Christmas. El Nino is a warm water ocean current which creates tropical type of
ocean climate along the Peruvian coast which gives good rainfall to the desert area.

The strong El Ning brings heavy rainfall exceeding normal rainfall resulting in
lush greenery in the otherwise dry coastal land of Peru. Sometimes th
causes heavy rainfall along the Peruvian coast and destroys the marine life (death of
fishes due to loss of plankton). The good rainfall from El Nino makes the coastal
Peruvian desert green and there is rich harvest of cotton, coconut and bananas. The
strong El Nino gives four to six times more rainfall than the normal amount to the
tropical eastern Pacific area but dry conditions prevail in the tropical western Pacific
resulting in severe drought in Indonesia, Bangladesh. India, etc. The widespread fire in
the forests of Indonesia in 1997 — 98 was related to drought resulting from a strong
El Nino event.

La Nina is a cold ocean current that flows in the Pacific Ocean which is the
opposite of El Nino,_Due to La Nina the temperature is reduced in equatorial areas of
the Pacific Ocean. When it is generated the trade winds increase their speed, Tt e

temperature of the west coast of South America and increases it in

the western part of
the Pacific Ocean. It decreases the air pressure and causes heavy rainfall. [,a Nina is

responsible for additional rainfall in south eastern Asia and the desert in Peru of east
Pacific becomes drier. E‘he La Nina is considered as the younger sister of El Nino.
When La Nina becomes effective in the tropical western Pacific, then R} Nino becomes
ineffective in the tropical eastern Pacific. The dry condition in the western Pacific is
terminated and wet condition is introduced in the tropical Western |

Pacifi :
Fwed] ST TR | SPACE FOR ROUGH WORK ¢ by La Nina,

PT.0.
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(3) (2) (b), ()

Answer Options :

(1) (a),m
3) (a), (® (2) (W, (c)
» :(C) w (@) ey
al, (¢), (d)

27. fedem sammeass
(@) Eﬁsmmﬁmmmmﬁﬁ?
(b) & & A fawg am.
(¢) o o & uw el ot wdior mrht o
(d) = foF A AR ST AR e S A,

qqidt 39 ;
(1) %4 (a) ST (b) (2) 4 ()
(3) % (a), (b) 3T (c) (4) (a), (b), (c) 3™ (d)

La Ning from the given paragraph ?

What information do we get about
pAa) It is a cold ocean current.

i) Tt is opposite to E1 Nino.
ered to be the younger sister of El Nino.

The La Nina is consid
(d) After the occurrence of La Nina, trade winds increase their speed.
Answer Options :
(1) Only (a) and (b) (2) Only(c)

Only (@), (b) and (¢} ’&T) (a), (b), (¢) and (d)

(3)

§ o | SPACE FOR ROUG

T
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28. e B o R v e o

(1) A R e (@) A faaw i A0

@) A e sl goam i (4) i Faew g w0a A

El Nino is called Christ’s child because .

(17 it occurs after Christmas (2) it occurs before Christmas

(3) it oceurs during crop harvest (4) it occurs along a warm current
20,  wen R wed s g ab A,

(1) 3% yarg (2) 93 WaER

(3) waa ve f (4) e @ B

Tha destroyed on ttheruvian coasﬂdue o o %

(1) Warm current (2) Cold current

87" Strong El Nino (4) Strong La Nina

30. wrefie faum g .

(a) =0 Frmges e gy A Y framadt feedm &=,
(b) & e YEe aresder = ISE #3 F1g, AEs, Hal A WYL IWE .
(¢) uet 1 woriar weawRde sifrndta Jagm G vam s,
gt I
(1) wad faum (a) st sme
(2) faur (a) snfor (b) it sma
(@) faur (b) sfor (o) wita smm —
(4) waa faum (¢) s= 3@
Observe the following statements :
L@ The Peruvian coast becomes green due to good rainfall from La Nina.
A There is a rich harvest of cotton, coconut, banana
good rainfall from La Nina.
L€ ElNinois an irregular warm ocean current in the Pacific Ocean. e
Answer Options : 5
(1)  Only statement (a) is correct
(2) Statements (a) and (b) are correct
87 Statements (b) and (¢) are correct
(4) Only statement (¢) is correct

in the Peruvian desert due to

@eed] IS ST [ SPACE FOR ROUGH WORK RS e e
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Read the following passage and answer the questions 31 to 35.

Women and Natural Resources

Probably no other group is more affected by environmental destruction than

poor village women, Every dawn brings with it a long march in gearch of fuel, fudd.er
and water. It does not matter if the women are old, young or pregnant; erucial
household needs have to be met day after weary day. As ecological conditions worsen,
the long march becomes even longer and more tiresome. Caught between pcvert}t af‘d
environmental destruetion, poor rural women in India could well be reaching the limits
of physical endurance.

Biomass plays a crucial role in meeting daily survival needs in the vast majority
of the rural households in the country : food, fish, fuel (firewood, crop wastes and
cowdung, organic manure, green mulch and forest litter), building materials (timber
and thatch) and medicines (herbs), are all different forms of biomass. Water is another
crucial element in human survival and its availability is definitely related to biomass
in a country where rain falls only four months in the year. When the biomass in the
surrounding environment disappears, water sources like streams and ponds also tend
to disappear soon after the monsoon. An important aspect of this biomass-based
subsistence economy is that it is monthly non-monetized. Water, fuel, fodder, building
materials and even food to a certain extent are all gathered freely from the immediate
environment. Production and processing of biomass agriculture, forestry and village
crafts based on biomass as raw materials are also the biggest sources of employment.

Unfortunately industrialization, urbanization and the advance of the cash
economy have greatly affected the country’s biomass base. The destruction of biomass
with deforestation and devegetation and its transformation away from rural and
household needs and towards urban and industrial needs (planting of teak or
eucalyptus in place of sal or other natural vegetation, for instance) is having a major
impact on the lives of all those who live within, the non-monetized biomass-based
subsistence economy. Marginal cultures like that of tribals and nomads are the first to
face total social destruction. But women, not only within these cultures but in all rural
cultures, face the maximum threat.

The special diffieulties that women face — their extraordinary work burden or
lack of access to health care, for instance, do not arise out of ecological deterioration per
se. They are located in the sexual division of labour marked by a double work burden
(at home and outside) and by the specific nature of tasks they do, and in the unequal
distribution of resources like food within the household, which stems from women's
inferior status in the household and from a lack of control over cash and ;:nro::hu:t.iv~
resources like land. But given this situation, environmental destruction exacerb :
women’s already acute problems in a way very different from men, ki

115
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3L iy %0
W oy :
wﬂﬁ%ﬁm&m B 2
) Yzurie v, (2) wwae o
Which groyy, l"ﬂi' oh T (4) vl wifta o e

Urban we = : struction ? -
m
( Wage p re"‘:og“’“p (2)  Village women group
00r womey .
a5 I group (4) Urban poor women group

LR S S—
(1) Wqﬂﬁﬂﬂiﬂﬂm)

8) Tw tiffaa (2) Ao
i - (4) =it
f:r)fuch factor-does not affect the count .‘_tﬂ» "
Industnalization @) Urbaaiion

(3) CashE
conomy }4)/ None of the above

a9 sz o (2) i =
(3)  tfwrferq =nf (4) wfoy Eh
Which type of peoplm
(1)  Aboriginal and nomadic tribes (2) Poor women
(3) Illiterate groups (4) Rural culture
4. SISt Amfor srereer s yfte s w0
()B/ ST Heears fie swmE6
(2) 9fi 2 v IEmHE @R

(4) SEHE AT GG gEeTe A

Explain the role of biomass of the rural households in the country.
(1) Biomass plays a crucial role

(2) Water is one of the biomass

(3) Firewood plays an important role

(4) Biomass is not important in rural households

35. g 2 arEmEE o Fm.

(1) 3TefiEhetr 9 AR

(2) fratz snftar a dmid G55
(3) aTeEEdIE AT eIl feratauon
(4) anfeardt 9 w2H

and destruct the biomass.
\/A{ Industrialization and urbanization
(2) Subsistence economy and marginal culture
(3) Deforestation and devegetation
(4) Tribals and nomads
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WTEHE IAT0 AT 36 A 40 vy T 1.

aafareas sivror sirfor afrorm

mﬁaﬁw&mmmammmmn&wﬁmmwd:gsz
mﬁ.mmmmqﬁmammm S
Frufor et ok, Wl T N @ o, wataord w6 sfn AR TET
mm,mmm,mmmmmiww
1. snavas vatawig wfwarsh sl dufis sdsan.
2. wiETeAT HEA T qot s wvarsht safus s,
3. shaife snfor sumrfavgs gl snafe aemide sdsraen.

et Gl Yafits s @ s gaET fmad s Ser SeEaes
ﬁmm,ﬁmmw&w(m),m.ﬁ,ﬁmm.m,s.iﬁ
AT seETEE e ade SNE aEEl wei i w9 sefis dreEeiEe
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g Passage and Answer the questions 36 to 40,

Forest Policy and Impact
Lveols 't
it ki | ﬁ 'BY and the Politics of Survival, Vandana Shiva (1991) argues
0 i .
urces are undergmng the world's most severe ecological and

food it ;
Security of the entire world depends upon linkages between
economic well-being of the majority of the world’s people

4ss by the three fundamenta] économies associated with forests -

i i !

; Nature's economy of essential ecological processes,

3. The survival economy of basic needs satisfaction for people.
1 The market economy of industrial-commerecial demands.

reflects the requirement of forest biomass (wood fuel, fodder, fruits, nuts, green
manure, small timber, ete.) by people living in and around forests. The market economy
of industrial-commercial demand converts forest biomass into items of the formal
market economy, such as pulpwood, plywood, furniture, housing timber, wood fuel, etc.,
for the urban market, Nature’s economy and survival economy have always overlapped
in India. They functioned simultaneously without conflict as the survival needs of local

people were satisfied through conservation-oriented utilization.

The colonial rule introduced dramatic breaks in usage. The former perception of
the multiple functions of a forest ecosystem was replaced with a_one-dimensional
scientific forestry whose only objective was maximizing production of commercially
valuable timber. Market logging eliminated the utilization of forest resources for
ecological or economic objectives. Post-colonial forest policy further ‘aggmj-'at-ed
utilization conflicts and forest degradation. The system of clea.r-cutting (with Mn::
regeneration) was adopted. Shiva concludes that converting natu;za:l.t ﬂt;t;en:s:sm
pulpwood plantations further eroded biomass needed for fuel, foiiider.. :ed ecolo.giw]
Monoculture plantations of eucalyptus, pine, etc., severely undermi

. ‘ ts.
esses in mountain catchments like the Himalayas and the Western Gha
proc
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96, faerem Iaveaviuw otgen A syEEqd A,
(a) W g JeTad
(h) wufaons 24
() WEHS
(d) Forsfeadiy s o e snfds weam
it 3w
(1) % (a) (2) wad (b)ale)
(3) wad (b)d(d) (4) wad (a)@(d)

According to the given paasagﬁood security dependsfon
(a) food production
Wb ecological stability

(¢} monsoon

__{dr economic welfare of the people living in tropical region

Answer Options :
(1)  Only (a) (2) Only (b) and (¢)
3 Only (b) and (@) ) Only(a)and (d

87. ﬁ@wmmﬁamﬂmﬁammmmﬁv
(1) TrerEadd @ Fire ari
(2) wmerdle g i amw
(3) =T g S
(4) e sfegrEEl et

Which approach of a community related to forests in India, do you understand from
the given passage ?

I/U/ Conservation and use of forests
(2) Excess use of trees in the forests
(3) Forests for expansion of trade

(4) Forests only for tribal peaple

o AT 9/ SPACE FOR ROUGH WORK
P.T.O.
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%&m qunq " .

e i (2) %# (d)

@) 7 (), (b) srfoy g (4) e &
What are the effects of colonialism 2

——a] Forests considered only for market benefits
(b)  Conflicts generated due to forest wealth

T Monoculture objectives of forestry were implemented
(d) Loss of biodiversity in the forests

Answer Options :
(1)  Only (a) (2) Only(d)
@ Only (a), (b) and (c) (4) All of the above

39. WA IATATE HeAad FHogH B AR ?
(1) e /9 § ged! aaEadt
(2) e yEtaTY RV g et S
(3) T Hepidier ST T
(4) T SRR JHEATEE W

What is the central idea of this passage ?

'/(( Environmental degradation and reduction in forest wealth
) En

; reduction in forest wealth
nvironment policy and c
(2) Wronge -

(3) Place of forests in Indian culture

(4) Benefits of monoculture tree plantation
{

ﬂqﬁnﬁ ST / SPACE FOR ROUGH WORK
Eaazll
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40. A SaTwEE @ittt s feed s i 2

(a)

(h)

(c)

d)

SCRAYH & ST A o oA e G .
caem s Brefivd) e qu e s @ @,
SHIEFETEY SR e v Bvams ol 32,

‘NH?E‘H}

(1)
(2)
(3)

(4)

% (a)
e (b)
B (a), (b) 37T (¢)
% (b), () s (d)

Which conclusions can be derived from the passage ?

«+&)" Conservation of forests and use of forests are interdependent processes.

)(b) We should not cultivate more Pine and Nilgiri trees.

(¢)  Colonial policy has caused the reduction of forests,

(d) Market economy based on trade demand does not depend on forests.

Answer Options ;

e —

(2)
(3)

(4)

Only (b)
Only (a), (b) and (¢)

Only (b), (¢) and (d)

FURA] WA ST | SPACE FOR ROUGH WORK \
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41, et s sedten sider s S s st s 2
i mmwmmmmm#rmaa.mwamm
(2) wesrea farg s werd R armar st wm g e it SEA.
(®) e, il sairoivren w3, wtes, o aea watz) HOHTE ST,
(4) asrf wwta ween’ agvard gaia wid) s swAr,

42, Wl W staetE wa sweel med 3 i Afirest gien s @

Afsrees
(a) -7 (i) AR weg e A s

EISE]
figsma
(b) @S (ii) mmmmmamﬁ:m
Fdv TRVATH HH
(¢) @HEA
AR

(iii) tfesh @ e guaran e

(d) (iv) vafgamda e s
(e)  vinrem (v) feaga fomvadren e som =
it 3w

(a) b)) @ (@ (o)

(iv) v 6 G) G
(2) (i) v) @) @ (iv)
3) ) Gv) () G Gid)
4) i) Givi (v Gi)  G)

43. mmmqﬂmm@me?
(1) h,m,mmgﬂwﬁﬁhmm_mmmmmm.

(2) m&wm@mmﬁﬁmmﬁmﬁammmﬁm
Jf&m%ammmh:maa{&mﬁémnﬁmmmﬁ

(4) ﬁam‘m’mmiﬁmmﬁamm:ﬁmﬂ%mm

(2) FEYAATGA IEd BHIMHIE] S A s,
(3) gL A P W9 @ G fEamha g g
(4) e, A, qmn A feEwn wha sfa s,

45, e v e sy w9 e ) o e e
(1) @, as, a5, s, e, (2) W, wef, 9, T, iy
(3) w®, 9I”, 91, 919, 39%9, (4) ﬂﬁﬂ, oy, ﬂ’i' ﬁm‘ T,
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additional sibling.
The principle seems established that an educated mother has healthier and more

intelligent children, and that this is related to the fact that she has fewer children. The
tendency of educated, upper-class mothers to have fewer children operates even without

access to contraceptive services.

The educational level of women is significant also because it has a direct influence
their chances of employment, and the number of employed women in a country’s
upon \+ force has a direct bearing on both the Gross National Product and the
total labou_r me of the individual family. Disposable income, especially in the hands of
djsposabk e food purchasing and therefore the nutritional status of the family.
women, influences additional income derives from the paid employment of women

The fact t;]at'cz}]nisnf-‘eﬂﬁve to restrict the size of the family.
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46.  From the alternatives given, select the word closest in meaning to the unc

word.

They are carrying out a charade of negotiations with the government.

(1) series (2) charter

(3)  absurd pretence (4) spate

47.  Choose the correct antonym from the options given.

“Termagant”
(1) Charming (2) Turbulent
(3)  Brawling (4) Shrewish

48.  Without a productive labour force, including effective leadership and intelligent
middle management,

(1) no productive work is possible
(2)  entrepreneurs will incur heavy losses
(3)  economic development will not keep pace with national movements

no amount of foreign assistance or natural wealth can ensure successful
development and modernisation

49.  Manpower development during the next quarter century
(1) will be adversely affected by the threat of war
will come from the world's present population of infants, children and
adolescents
(3)  will be well taken care of by the current emphasis of free education for women
(4) will be adversely affected by the country’s economic losses and political
instability

50.  The writer directly or indirectly made three of the following statements. Indicate the
one he didn’t make.

(1) Many of the world’s present population of infants, children an
not have the health, the education, the skills, the S0Cio
essential for the responsibilities of development.

(2) A child’s most critical years with regards to physical, intellectual, social and
emotional development are those before he reaches five years of age.

(3) Development will be handicapped as long as women remain  second-class
citizens.

(4) In the advanced countries of the world, women are regarded as first-cla
citizens, but in developing countries they are third-rate citizens, W
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V the . L
/Q/P(/ speak four ?:;;I: panying Venn diagram that shows the number of studsiits who
students who speﬁ?gfif 1Telugu’ Hindi, Marathi and Gujarati. The number of
number of students who speak Mmmatﬁ,ef, Sfl' 65, 73 and 69 respectively. Select the
Telugu  Hindi
3
6 6 9 |12
Gujarati
5 8 12
Marathi
4 11 14
(1) 19
@2 9 .
(3 8 for getting the answer

(4) Enough data is not provided
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Rina, Tina and Hina are starting at the same time from the same point in the sam
direction to run around the cireular playground. Rina completes a mund g
70 seconds, Tina in 105 seconds and Hina in 175 seconds. After how much time wi
they meet again at the starting point ?

(1) 17 minutes 3 seconds

(2) 34 minutes 30 seconds
(3) 71 minutes 30 seconds
4) 17 minutes 30 seconds

53, HIE M’ izt wiad) 5.00 T HA @ fghen v 9.00 FrsT SrE=d. HEETE 9
feeflaws aw@lt 7.00 s gen @ wwen wwh 10.30 Ao drEEd. W A smmEs

(1) |1 7.36 arsar
(2) @ 7.56 qr
(8)  w#1ed! 8.00 arsan
(4) HHH 8.26 415l

Train ‘M’ leaves Meerut at 5.00 a.m. and reaches Delhi at 9.00 4. Train ‘N leave
Delhi at 7.00 a.m. and reaches Meerut at 10.30 a.m. At what exact time do th
trains cross each other ? i

(1) 7.36 a.m,
(2) 7.56 am.
(3)  B.00 a.m,
(4) 8.26 a.m.
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All persons of a ce
a if . ;
Wi certain community are in a habit of answering any question in two
: an o .
oot d one of these is always true and other one is always false. A visitor
's d 3 Ak o 5 «
¥ across three persons of this community : one of them is a doctor, another one is
X aw - FeLd L

ver and third one is a farmer. Study the reply of these persons to a question
about their professions and select the true statement from the given options.
X : I am not a farmer. Z is not a farmer.
Y : X is not a lawyer. Z is a farmer.

7 - X is not a doctor. I am not a farmer.

(1) X isa doctor.
(2) Yisalawyer.
(3) Zisa farmer.

(4) None of the above statements are true
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There are equal number of men and women in a family of six. There are two fath

and two sons. Additional information about these family members is as given belo

Ram is eldest and Nita is youngest of the family. The farmer is the father of

writer and also of the doctor. Nita is Sameer’s sister and both are teenagers. Tt

mother is a teacher. The only couple in the family is Jayesh and Nadira. Anna is

married and is the daughter of Ram.

Select the option that describes the relationship between Ram and the writer
(1) Ram is the father of the person who is the writer.

(2) Ram is the husband of the person who is the writer.

(3) Ram is the brother of the person who is the writer.

(4) Ram is the son of the person who is the writer.
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Daya, Maya, Saya, Jia, and Nia are housewives and their team takes care of the
garden in their colony. They wanted to visit places Shela, Kota, Moha, Heta and

September, November and December. Following are some additional, related facts.
Jia took holiday in December but did not visit Moha or Heta. Maya went to Shela in
June. Daya went to Kota but not in March or September. Nia went for holiday in

March but as she had visited Heta, she did not go there.
Select the person who went on holiday in November.
(1) Daya

(2) Saya

(3) Daya or Saya

(4) Datais insufficient
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Given below is the main statement that is followed by statements labelled (a), (b), (

and (d). Select the ordered pair of statements where the 1%
s e o - statement implies 2'
and the two statements together are logically consistent with the mai S’tatéfng:ft 2

You can watch a drama only if you have a ticket.
(a) You watched a drama.

(b) You had a ticket.

(¢) You did not watch a drama.

(d) You did not have a ticket.

Answer Options :

(1) (c)and (&)

(2) (a)and (b}

(3) (d)and(a)

(4) (b)and (e
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to .
from all oyer the s:::compﬂed from health workers M, N, O, P, Q. R,Sand T selected
in either of the teamte f(.’r G!ecuhng health related programmes. Each worker will be
least four work, : and one of the teams can accommodate at the most five or at
(a) 4 Gwenhdﬁwiﬁ some more information about the workers.
a i .
(b) Being rivals M and T will not be in the same team.
(c) RandeilInot.beseiectedalongwithO.
(d)  Qwill be selected with M and P but not with S. _
If P and M are selected for a team, then select the true statement from the given
options. _
Answer Options :
(1) One of the teams has five persons.
(2) Nisthe member of this team.
(3) Q is in the other team. /.
(4y Sisnot the member of this team.
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P
Aisha is studying literature of the period 1950 — 2010 for her graduation. She
decided to buy a book to help her with studies. Information about 5 different related
books which are available at the local shop is given below.

Title Period | pardback ? | Mlustrated ? Price ?
ﬁgﬁ}“ Lentusy 1950 —2020 | Yes No ?@]
?Ahemrlilhu;tf ated Guide to 1900 — 2020 No Yes - L4 EQQ, U-/;
ﬁt;ram; = 1850 - 2010 No No 1',_9:9_0,* (\f_!:\
Literature For All 1850 — 2000 Yes Yes/” | X 5 '~§1

All About Literature 18002020 |  Yes No [Te \ s

Next day she went to the <hop with exact cash required for buying the cheapest book
satisfying her requirement. She found that there was a sale and the prfi,:: - @
books are reduced by 20%. So she purchased the most costly book that sh of all
with the money she had and that fulfils her requirements. e could buy

Select the amount that is left over with Aisha.
U< 90 (2) %50
3 T10 (4 %130
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A [‘ﬁ\{ jambhy] et Of.thev .a .Parlshad School planted in all 48 plants, a mixture of
Varieties anq the eac] arieties, in their locality. Every boy planted three jambhul

8roup of two girls planted one chiku variety between them.
that is not true with respect to the above information.
(1) There are 12 more girls than boys in this school.

(2) If the total number of plants planted is 49, then the number of girls in this
school is definitely 14, with respect to the above case.

(3) There are 14 boys in this school.

(4) If the total number of plants planted is 51, then the number of boys in this
school is definitely 13, with respect to the above case.

Q

)
Select the statement

T 35725+ 91 Hedw 3 FM 5 3 HIT W, T AT Theb 7 EIR TR, 3y 37
faaer.

(1) 0,4

(3) 5,6

61.

(2) 5,4
4 0,6

If the number 357+25+ s divisible by both 3 and 5, then select the appropriate pair

} h place respectively.
Sy 8 ts and thousandt
of digits in un! (2) 5,4

(1) 0,4 4) 0,6
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Study the accompanying piece of transparent paper. Select the fold image if it is
folded to get triangle.
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Durin
8 the discygg;
S1on .
reasonable to attribut:::n: F;eﬂkar said, “As claimed by some researchers, it is not
Plex reasoning ability to reptiles on the basis 'of simple

(4)

observed durj
ng experiments :
behaviour when » Teptiles are not capable of makin changes i .
leads one to hen e major changes in their gurro i Sy
C y . un 1
conclude that reptiles are not Y dings, this

Which one of the ingisa
the following is an assumption required by the speaker’s conclusion ?

(1) In ison with  thei -
hehaom'npanson with their behaviour in laboratory experiments, reptiles’
aviour appears to be more complex in their natural environment i

If reptiles were capable of complex reasoning, then they would exhibit
1

(2)
capability of altering their behaviour as per the changes in their natural
a

habitat.
Complex reasoning and responses to stimuli cannot both contribute to the sam
e

(3)

behaviour.
All reptiles’ behaviour can be explained on  the basis of simple

(4)
stimulus-responses.

R A r
mmmﬂ ST | SPACE FOR ROUGH WORK

i

48



e s =

15
B 61
64. wh AR AW Sy A g qataiq Fren watn wEsE HAE AT
w AH FTI 7 o ety sy vt m.ﬁmaﬂmmmwwm""

e A T g, vy sf seren @) v oEAr 4

et B S e s, a1 e T AP T S

(1) ﬁmﬁmmmmmﬁmwm@mmm.mw
fodt 3wt e st B srems wEfen s aE AEL

2) WG R s wowedt v Rl e mevEER T sEd. 9 Al
maammwwm,mg@ammmm. :

(3) e Ak fobar & S 3w ke e wReWTHY wH GO Fe fafw Fa T6
A% VIUVATHIS oA des iAot e e a9 A A,

(4) T A fhar wrwl dwg wf fraah yE A, SEE dHe I=d TEE
a1 o s s i vt SR o HoaE sEa s e dg wE
et fasvarel wrf am.

Study the following argument and then choose from the options given, the argument
that most closely parallels the reasoning of it.

The farmer’s family had an option of planting gram or soyabeans. Last year gram
received a better market price as compared to soyabeans. But in order to ensure high
yields, quality organic fertilisers and eco-friendly pest controlling inputs are
required for gram. Since tl:_uey‘oould not get credit required for this additional care, in
spite of the crop being likely to earn less profit, the family planted soyabeans.

(1) In order to go on excursion for collecting field data, the learners need to raise
enough money. It is impossible for them to raise the sufficient funds, therefore
they are unlikely to go on excursion.

(2)  For securing promotion, one 'nleeds to meet sales targets if one is working as the
salesperson. If one is successful in meeting the last quarter's target, then e
can hope to get a promotion.

(3) It is possible for tourists to exchange currency through bank O Do
exchange rate, they can use the hotel where they stay. There was no _— orer
time for finding a bank so they had to use the hotel fyp exchange, cient

Tl oy loan from & nationalised bank op g Co-operative b
Since a co-operative bank has higher customer service rating, a pemonf] a;ﬂi

; : : 2 €Cides
o apply for loan in a co-operative bank as she is sure of geti
to apply getting the loay easily,
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Bortts at he Bera'hni_"—“"s'ﬂé a Gmn% SIS S T 3= S 7 w5
subst "€, & hormepe founhehmt‘_" of Pharmacy have recommended that
ances for athletes, SeiEnﬁsz SPinach, be included in the list of prohibited
e it conducted a study for testing their hypothesis
erease in mygelp mas !mmﬂ{lce of athletes.” They found, ‘aig’niﬁcantl}:
i ' 8 observed in those participants who were dosed with

(1) Higher increase in m
o - uscle mass gi perso
(2) him or her to give the best Derfbf;‘::;. » superhuman strength that helps
2) Ecdysterone, as it increases musel
» (<] o

doping is banned for athletes. mass, serves as a dope and any kind of
(3) Higher increase in muscle power causes adverse effects on athlete’s health
(4) Spinach eating causes increase in muscle mass of the person d\;e to

Ecdysterone present in it.
66. i 28 g, 2018 Tfl w7 g, o foren 205 aref o
(1) wesEr (2) HWER (3) gquam Ea(:)ir FIorET
Sanvi was born on 28™ February, 2018. Then on which day will her 224 birghday
come ?
(1) Tuesday (2) Monday (3) Wednesday  (4) Friday
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A and B can complete a work in 15 days and 10 days respectively. They started doing
the work together, but after 2 days B had to leave and A alone completed the
remaining work. In how many days was the work completed ?

(1) 8days (2) 10 days

(3) 12days (4) 15 days

fectefl faUT o St st srearen, facen faamias s dm sEEEE Fae w50
(a) ¥ TR 3= TS AT o wwar wef :
(b) TR AT gorrefieft fororel eret, wamoardt faendfi, agut U wewfE wEA.
(e) o et ot Q9 asfeier s,
it 39 ;
(1) ¥= Traieh wehfer=m A st s T A s s,
(2) warerd famefi 3= Tes adhfamn awar waftt @ A,
(3) werrfi faendff FafEas nford dem.
(4) ol A TE
Study the statements given below and select the correct conclusion based on theo
that follow : 088,
(a) All mathematicians exhibit an ability to do high level logical thinking,
(b) Self-learning students, who are not the product of traditi
are usually found to be highly creative. onal school system,
(e) Only some of the ‘glathematicians are highly creative, .
Answer Options :
(1) Persons with high level logical thinking ability are 1
mathematicians. re likely to become
?} Self-learning students don't exhibit high level logica] thinking abili
(3) Self-learning students seldom become mathematicians. y.

(4) None of the above
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Read the following argument and select the best statement that points out the flaw
in the argument from given options.

Many people think that welfare benefits create a culture of dependency and an
unproductive workforce. Many people solely depend on welfare benefits without
making any efforts to earn their living. Few years back the government introduced
tough eligibility rules for getting welfare benefits and the number of recipients has
now fallen by 15%. The government should therefore tighten eligibility rules 1,
further reduce the number of welfare beneficiaries.

Select the statement that points out the flaw in the argument from the given
options.

) It equates beneﬁmaﬂﬁﬂ with unproductive workforce.
(2) It implies that beneficiaries are responsible for theiy situation.

(8) Tt fails to empathise with beneficiaries facing adversitios.

(4) It gives the impression that the benefits are unnecessary,
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A bﬂg Containg 2
bag. What is tha White, 2 blue and 5 red ball s One ball is drawn at random from the
€ probability that the ball drawn is not red ?
1y 4
g 3
(2 i
: 10
@ 1 1
® (4) E
72.

C #1 eq F, D sf G o wwredren afiiven aweft s, © snfir A 7 T@Ed Eea e
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1) B# auEa B awrden ghon awerch 52,
o & (@ G FamEa A7 FEwd = feen SEere A

\ @ o B a1 e Sriten awdieh st
@ @4 E # s9rEa D I1 qaradiean afaven agad .
{’: S e information and select the definitely true statement with respect to it.

Colony C is located to the south of colonies F, D and G. Colonies C and A are located
to the east of E and colony B is located to the west of colonies C and A Colonies A

and B are Jocated to the south of C.

(1) Colony B is located to the east of colony E.

(9) Colony G is located to the west of colony A.

Colony G 18 Jocated to the north of colony B.
olon

- Ei Jocated to the south of colony D.
is

(4) Colony
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5 children are collecting flowers in the garden for making 5 garlands using
25 flowers each. They decided that at the end of the collecting time, they are going to
ensure that they all have equal number of flowers. Four of them are only 2 short of
making their garland as was decided and the youngest child was not able to collect
the required number of flowers. So each of the others gave 3 flowers from their
collection in order to equalise the number of flowers.

Choose the option that indicates the number of flowers that the youngest child had

collected.
@ 138 (2) 12
3 8 (4) None of the above

74, e degE A X0 R #8613, 8, 15, 14,17, 9, 14, 16, 13, 17, 14, 15, 16, 15,
14, 9 8 el 181w S, AT KA YV F. T X wwfon v aih A fdy o

(1) 30 ' (2) 27
(3) 28 4) 29

Let X’ be the median of the data 13, 8, 15, 14,17, 9, 14, 16,13, 17, 14, 15, 16, 15 14
If 8 is replaced by 18, then median of the data is Y, What is the sum of values of \

and Y'?
(1) 30 @ o
@ 58 4) 29
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( napu mirkey

Stu ; ;

Used’:;v the followu-]g expressions and recognise structure of the unfamiliar language.
0 F:lssumptaons that : there are no exceptions to the rule, and only those rules

apply which may be derived from the given expressions.

napu pelkeui = The girl is coming from the hut.
napu tipkeu = The dog is going to the hut.

lam mirkeui = The farmer is walking from the field.

dowl pelkeu = The girl is running to the meadow.

Select the option that expresses “The dog is walking to the meadow” in this
language.

(1) dowl tipkeu

(9) dowl tipkeui

(3) dowl mirkeu

irkeu
(4) napum R
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Decision making and problem solving questions no. 76 M@?ﬁ
76. A TR SRTHOTEE G swee At a4 HTET. mmfiﬁguium s
! ‘ s AT B
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FHell HAMHA I1 2Tl Tga He. ik
43) sud 3 fufeg ciwd @ it wEEyd F6 @ e geen we ST
e mﬁ?ﬁmmmmmﬁwﬁgﬁawmm%ﬁém
B HE.
T sftETiER, auEd I afta @ FEE S dimEdE s
(4) I & Rl '
HwaE Afwe: geurlt 3 @ ween gl e wees s v2a @ mem o
@it T,

You are a senior government servant known for your integrity. You are approached
by a group of activists who are working for social justice for the people who are
considered low caste by other groups, in most of the villages in your district that i=
under your jurisdiction. Many Buddhist families from these villages are facing social
boycott and are living in miserable conditions. Activists want you to support the
movement and actively participate in it as you are against social stratification of anv
kind. Government Conduct Rules prohibit government servants from participatin..r
in activity related to criticizing government for the condition of th L
: ) elal 2 5 ese people, In this
situation, what appropriate course of action would you choose from the following Jis
of options ? _ -
(1)  You know that large number of people are denied et
so-called high caste people, thereforg you asseglrzd tﬁztf;eof“eﬁ:f }Eegemon_\- of
guide them to plan activities for long-term change related t,op 21 support and
this is a very difficult task. this issue, though
(2) Discourage the group from doing any activi
f\ Jjustice as this will aggravate thlggprobjl’em o?gergztczdmte%the Problem of social
7(3) Explain to the group that you cannot participate in an kinpet)ple.
Conduct Rules prohibit you to do this and you are awy d of such activity as
ighly educated people don't have any empathy tov ard:m of the fact that even
Assure this group that you will give them full these People,
assistance without getting involved personally i t}r:mra] Support and needed
kind of violence related to this issue as 80-cal ¢ Programme to avoid ap

high level government officials support social bol;got}tugz ‘a;:as:e hpeop] o i“duding
nst these
@oed] WIATHIE ST | SPACE FOR ROUGH WORK \P@Orﬂe.
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the yields claimed by him. You will’

(1) suggest the name of the .stcientist who .a?sists farmers to eXperiment with
scientific data available on internet for guiding farmers,

2) explain to the Minister that this person is a fraud.

organize lectures of the celebrity as you know how difficult i is 10 convinee e

(3)
Minister that his friend is a fraud.

<t the name of the scientist who is working with farmer for many years
sugge

@ ' ic fertils A it
v and has designed methods of wping OrgRIACTRLEisern for iicreasing yiglq, using

scientific data for guiding farmers.
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e WRE R A de d@ wen wig Fed wn @ FE

foresavamidl s Fa AR, e o w

(1) mma@mmmm STl wedd WA 20T
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@) FoE A eE A wEaR gmeRREE e wEEE i g

Every year 20" March is celebrated as Happiness Day. As the headmistress
want to organize celebration of Happiness Day in school W s ek » You
learners aware of process of living happily. You have called a parents ters.ljmd
meeting to get ideas about celebration of Happiness Day. You bk : ?;. ers
of different classes and found that adults as well as children have th 0 ¢ 1.dren
about ‘happiness’. You also talked to the devotees standing in queue § e ‘Zame ;d(.zas
deities of their choice and you found that they also pray for som A Or darshan’ of
purchased with hefty amount. You will ething that can pe
(1) allow teachers and learners to do whatever th, : :

suggested by majority of persons attending the meg,',:;u gd Cli.oll:lg at school ag

write in brief an account of some instances of ooy lif:q est each one tq

experienced. that they have
(2) call some people whom you have observed living happi Y ]

and leading a simple life and request them tﬂgahazzliixf;‘e doing thejr v bk

with students. appy’ eXperiences
(8) organize teachers and parents sessions for ¢opg :

all:‘fmt ‘happiness’ and for assi_sting teachers to desi;u f:;:;fiHCOllaboratiVQ ideas

make the learning process enjoyable to each learner. 11N experiences that

(4) organize lect :
teachers aware about eternal happiness ag Suggested o

attend spiritual lectures regularly.
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You are heading a research team in a biotechnical company. You have mooted the
Proposal for some special hands-on training in a renowned foreign laboratory. In an
order passed by your immediate supervisory head, three of your team members have
been recommended for this training. You suspect that it is deliberate on part of your
boss with whom you had differences of opinion with respect to another project. As
first point of action you would

(1) use your media contacts, social media and pressurise your boss to recommend
your name for the training.

(2) seek audience from your boss’s superiors and make them aware of injustice
done to you.

(3) speak to your boss for knowing the reason for not recommending your name for
training and explain your point for recommending you for the training if
necessary.

(4) submit a written complaint to the concerned authorities about this matter.
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(4) qo=n Iufeudia fasht faedt fammom = Svaren fofaadsh aifes do feamd an
You are the head of a certain office. The office secretariat is in the charge of allotting
limited number of houses reserved for the office staff and these houses are near the
office. Allotment is done as per the rules laid down by the higher authority of the
organization and these rules are published by the secretariat. Your distant relative
works in this office as your senior assistant. She pleaded to the secretariat that <1
should be given priority in house allotment as she has to take care of her ailin.
in-laws. Another junior staff member also requested to the secretariat to allot house
as he has to take mofh;sﬂhng wife. The secretariat turned down her request by
pointing out the rules and on the basis of these rules the junior staff member fo-
been allotted the house considering the nature of his duties. Now your relative is
pressing you to help her to get fouse th‘?'t is allotted to the junior staff member and
you want to avoid her annoyance. You will,

(1) order the secretariat to.hold--t.he allotment orders and delay the declaration of

allotment as far as P"ss‘bl-‘:n G 31
tariat to allot the houses without ideri .

o ger?:;dﬂ:: pi?‘(;:’enal problems like ailment of relatives. Py any request

th the secretariat’s note as they have strictly followed the rules set

_ wi y :
(3) agree jes though that might strain your relations with her and oth
er

by the authorit
relatives. y i th "
he secretariat to explain the rationale of the decision made about not

- no

misunderstanding and

irritation of your relative,
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